(| |— B BE®mE B (Zol1)

M o &K 5 iy figt pas (f51)
7) 1 8
1) 1 —8xr+tvy
(1)
(%) 1 ZI
() 1 3
(2) 1 xylxr—=6)
(3) 1 x = 1+‘/§
2
(4) 1 1/—31 cm?®
6
1
“
{5) 1 L4 Ty
A B
//
PN
(6) 1 31 i3
(7) 1 © . @
(7) 1 30 ik,
(1) (1) 1 y = 3xr+2
() 2 A 15 % D 47 %
15
) ~
7) 1 5 cm
) 2 15—2xr cm
2 P ABED ORifiA% 36 cm?® Th %95
L o520+ 15 = 36
(2) 2
r’—15xr+36 =0
) 3 x—3)x—12) =0
=3 12
_
0<r= —121 FEab. oz =12 RIS bR,
xr = 3 EMEIZH > TV b,
(&) #HOFGCoEXIZ3cm







BarmaE ) (£2o2)

i pes (1)

4
—1
y= —4xr—4
(1)
yo oy D

2
45
4
90 JiE

AOCD & AOCEIZBWT

W ABCD 2 FIEZ2 S 20DC = 90°
HAMCF EMHOWEEE THTADOT ZOEC = 90°
DFD

Z0DC = ZOEC=90" -+ D

OC I F 722 5
OC = OC  +----- @

#5r OD. #70 OE 13 & B2 O 47205
OD = OF  +++-- ©)

L, @, B&b,
HA=ZAEORNEMO 13855, FRFRELVOT
AOCD = AOCE

Z cm

14 cm

6 cm







